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LtEF—TH 797) 799 824) 1,623 [RE=TH 1,314] 1,632] 1,633] 3,265
tEFZ-TH 796) 888 892) 1,780| [hEWTH 778] 839 949| 1,788
TE—TH 1,777] 1,523 1,820] 3,343| |+EHETH 957| 1,091| 1,137 2,228
TEI=TH 1,535[ 1,459| 1,587[ 3,046| |FEATH 836| 809 818| 1,627
PEF—TH 792 938 955| 1,893| |EFiE—TH 1,180 1,205( 1,281] 2,486
PEF_TH 514| 584| 600| 1,184| |BstE=TH 752] 635 803| 1,438
FEF=TH 623 809| 840| 1,649| |BE=TH A15] 464|477 941
PEFMETHE 747) 768 886 1,654| |BpEETH 528| 633|653 1,286
REFRETHE | 1,000] 1,124 1,219] 2,343| |BERTH 1,030[  966] 1,073[ 2,039
TEF—TH 822 996[ 1,046( 2,042| (ALLU—TH 1,937] 1,645( 1,823] 3,468
TEF=-TH 306 391|391 782| [MML=TH 1,475[ 1,307] 1,320 2,627
TEF=TH 136] 142 130] 272| |®ML=TH 867 788| 892 1,680
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TE—TH 979 919 849| 1,768| (ME=TH 1,527] 1,648] 1,731] 3,379
TE=TH 499 674 674| 1,348 |#8E—TH 40 36 36 12
TE=TH 192| 255 253| 508| |#E=TH 520 439 518] 957
BENAE—TH 444] 557 555 1,112| |#8EI=TH 1,181f 1,166] 1,227] 2,393
BEAEZTH | 1,411] 1,135] 1,270 2,405 ;E#Th&st 35, 132(36, 142|38, 705]74, 841
BAE=TH 223|346 344] 690
EAEMRTH 26 40 32 12
EBAERTH 576 510 506] 1,016
BAENRTH 225 327 318 645
hE—-TH 871 942 971] 1,913
hE=-TH 686 798 819 1,617 HwEEt 35, 132(36, 142|38, 705]74, 8417




